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QUESTION 1
An administrator is notified that a service group faulted due to a disk group failure.

Which two Veritas Cluster Server logs can the administrator review to determine the reason for the failure? (Select
two.)

A. vcs_A.log

B. DG_A.log

C. FailEvents_A.log
D. engine_A.log

E. DiskGroup_A.log

Correct Answer: DE

QUESTION 2

Which command can an administrator run on each node to gather logs containing information on the installed software,
cluster configuration, systems, logs, and related information to create a file for Veritas Technical Support analysis?

A. Ivar/VRTSvca/logs/logcollect

B. /opt/VRTSvca/bin/hagetcf

C. lopt/VRTSvca/bin/nodedump

D. /opt/VRTSvca/bin/haconfig -dump
Correct Answer: B

Reference: https://www.veritas.com/support/en_US/doc/129674930-129674933-0/uxrt-731_v44377945-129674933

QUESTION 3

What happens when the hastop —local —force command is issued on the active node in a two-node active/passive
cluster?

A. The services shut down on the active node and are brought up on the passive node.

B. The passive node becomes the active node, and all service groups are automatically switched to the new active
node.

C. The services continue to run on the active node while HAD is stopped.
D. The online service groups on the active node are taken offline and remain offline until started manually.

Correct Answer: C
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QUESTION 4

As part of the consolidation efforts in a data center, the administrator decides to merge two two-node Veritas Cluster
Server (VCS) clusters into a four-node VCS cluster. The source and target clusters are on the same networks for LLT
communication. The administrator performs the following tasks as preparation for the merge while both clusters are still
running:

modifies /etc/lIttab files on the source cluster systems so the cluster ID is changed to the cluster ID of the target cluster
modifies /etc/lithosts files on all systems to include the four nodes modifies /etc/gabtab files on all systems to require the
four systems to seed ensures the source cluster systems can see the fencing disks used by the target cluster copies the
fencing configuration files from the target cluster systems to the source cluster systems adds the source cluster systems
to the target cluster configuration using the hasys —add command

After the preparation is complete, the administrator stops the source cluster leaving the applications running, then stops
the whole communication stack and restarts it in the correct order. When the administrator attempts to start the cluster
again on the source cluster systems, they fail to join the four-node cluster.

Which preparation step that the administrator failed to perform is preventing the source cluster systems from joining the
four-node cluster?

A. The cluster needs to be manually seeded using gabconfig -x on the source cluster systems.
B. The target main.cf file needs to be copied to the source cluster systems.

C. The service group configuration of the source cluster needs to be applied to the target cluster.
D. The cluster UUID from the target cluster needs to be copied to the source cluster.

Correct Answer: D

QUESTION 5

A database administrator needs to work on a database protected by a service group hamed DatabaseSG1, and plans to
stop and restart the database several times throughout the day. Which command should the cluster administrator use to
accommodate the database administrator?

A. hagrp —freeze DatabaseSG1

B. hagrp —modify DatabaseSG1 Active=0

C. hagrp —freeze —all -force

D. haclus —modify DatabaseSG1 Enable=0

Correct Answer: A
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